normalized X?

1

10

Entries

[ normalized x? probability |

0.22f - -
0.2
1072 0.18
0.16
0.14
0.12
0.1}
0.08
0.06
0.04
0.02 :
O;,\.O o e A
= 1 1l Il Il Il Il 1l Il |
: :HHHH He i HHHHeHHHe e
i AT MR e A
: R R | NI : : NI
09024 6 8 10 12 14 16 18 20 09%970.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.
X Prob(x?)
=== DQM_V0001_R000000001__Global__CMSSW._dt08
=== DQM_V0001_R000000001__Global__CMSSW_dt05
S :
A H
QF :
< :
o :
o v
v .
° !
T i
n: .|
£
0832 1 0 2 3
TP n (PCA to beamline)
A A
5 5
j=4 =
=< <
\" \"
£ k=]
I T
@ @
10 1 102 (0 107 1072 107t
&T AR(track, ]et?
g : :
I = : :
o A S (R R prrerenes
S : :
> F : :
o - : :
- EEEEEEE s e
2ot deeeees
) s
S .| G
Om;: i i
g ; i
24
| O AL e
0.95 3
107 1 10% Jo




	Contents
	Page 1


